Scanned with CamScanner




ST R, TR Rwe, gt ® @ s $ o W@ syl
1—@%’%@%1200L.P.M.aﬁaﬁaaavﬁsmeruﬁﬁ=rnﬁw‘hiﬁr’“
Y&l STeArgfRf @ ArET—
1200 L.P.M. x 60 fA=i x 8 gver = 576000 L.P.D. = 0.576 M.L.D.
17 9 TRy W 8 HveT U B o & SIegft B g q=A—
17 X 0.576 M.L.D.= 9.792 M.L.D.
2— U% A Ty | 500 L.P.M & aitag ox ¥ 8 Tver ufAfed ufy A AerwT ¥ @
ST Y& STt @ ATA—
500 L.P.M. x 60 f< x 08 HveT = 240000 L.P.D. = 0.24 M.L.D.
101 P oty & 8 Hver WA @ o W& Stengfet B e AA—
101 X 0.24 = 2424 M.L.D.
el TYR— HOHO 1 g 2 BT SIS TR 9.792 M.L.D. + 2424 M.L.D =34032 M.L.D

Qoo™ égf\w

0'

o w2 AR (3

ST el [eTidD > ‘
o gio gRo

SR

Scanned with CamScanner



